3/28/2011

Chapter 1187.111 Disproportionate Share Payments for full year cost reports ending June 30, 2010 . Acceptance letters mailed as of March 28, 2011

	Reported	Reported				
	Available	Actual	6/30/2010			
Name	Days	Days	MA Days of Care	Group	Per Diem	Total Payment
ABINGTON CREST NURSING AND REHAB CENTER	29,200	24,816	19,306			\$0.00
ALLIED SERVICES SKILLED NURSING CENTER	135,415	122,215	91,517			\$0.00
ARBUTUS PARK MANOR	51,465	49,369	32,473			\$0.00
ARISTACARE AT MEADOW SPRINGS	55,845	48,279	38,915			\$0.00
ARTMAN LUTHERAN HOME	22,265	20,874	8,712	_	4	\$0.00
AUTUMN GROVE CARE CENTER	37,595	36,322	30,507	D	\$0.91	\$27,761.37
AVALON NURSING CENTER	30,295	29,218	21,634	_	.	\$0.00
BALA NURSING AND RETIREMENT CENTER	65,700	61,266	53,566	С	\$1.51	\$80,884.66
BALDOCK HEALTH CARE CENTER	43,800	37,968	23,807			\$0.00
BALDWIN HEALTH CENTER	73,000	68,372	47,081			\$0.00
BALL PAVILION, THE	31,025	29,587	19,225			\$0.00
BAPTIST HOMES OF WESTERN PENNSYLVANIA	45,990	42,359	23,295			\$0.00
BARNES-KASSON COUNTY HOSPITAL SNF	21,170	20,166	16,030			\$0.00
BEAVER VALLEY NURSING AND REHAB CENTER	43,800	41,556	22,727			\$0.00
BELAIR HEALTH AND REHABILITATION CENTER	37,595	35,719	20,028			\$0.00
BERKSHIRE CENTER BERWICK RETIREMENT VILLAGE NRSNG CTR I	47,450 43,800	45,225 26,626	25,648 20,114			\$0.00 \$0.00
BERWICK RETIREMENT VILLAGE NRSNG CTR II						
BLOOMSBURG HEALTH CARE CENTER	43,800	34,801 47,106	22,846			\$0.00 \$0.00
BRANDYWINE HALL	54,385 65,700	60,557	28,869 39,295			\$0.00
BRETHREN VILLAGE	47,720	44,179	20,720			\$0.00
BRIARLEAF NURSING AND CONVAL CENTER	64,970	63,460	54,558	С	\$1.51	\$82,382.58
BRIGHTEN AT AMBLER	36,500	33,904	29,914	В	\$2.52	\$75,383.28
BRIGHTEN AT BRYN MAWR	58,400	53,422	37,838	ь	φ2.52	\$0.00
BRIGHTEN AT JULIA RIBAUDO	43,800	39,533	27,552			\$0.00
BROAD MOUNTAIN NURSING AND REHAB CENTER	47,085	43,182	32,475			\$0.00
BUCKINGHAM VALLEY REHAB AND NURSING CTR	47,450	43,364	31,274			\$0.00
BUCKTAIL MEDICAL CENTER	16,425	11,543	10,639			\$0.00
CALVARY FELLOWSHIP HOMES, INC	16,425	15,128	7,455			\$0.00
CARE PAVILION OF WALNUT PARK, INC	144,540	136,687	121,891	В	\$2.52	\$307,165.32
CARING HEART REHAB AND NURSING CENTER	62,415	57,671	43,617	_	*	\$0.00
CARING PLACE, THE	36,500	35,209	17,860			\$0.00
CATHEDRAL VILLAGE	54,020	50,314	13,198			\$0.00
CHAPEL MANOR	87,600	80,496	68,446	D	\$0.91	\$62,285.86
CHARLES COLE MEMORIAL HOSPITAL ECF	17,885	14,583	9,907		·	\$0.00
CHARLES M. MORRIS NURSING AND REHAB CTR	58,035	56,172	30,838			\$0.00
CHELTENHAM NURSING AND REHAB CENTER	93,075	87,291	79,372	Α	\$3.72	\$295,263.84
CHELTENHAM YORK ROAD NSG & REHAB CENTER	87,600	85,820	79,130	Α	\$3.72	\$294,363.60
CHICORA MEDICAL CENTER	41,610	34,528	23,573			\$0.00
CHRIST THE KING MANOR	58,400	57,220	35,847			\$0.00
CHRIST'S HOME RETIREMENT CENTER	8,760	8,261	4,957			\$0.00
CHURCH OF THE BRETHREN HOME	48,910	46,579	30,768			\$0.00
CLIVEDEN CONVALESCENT CENTER	65,700	62,934	55,136	В	\$2.52	\$138,942.72
CONCORDIA LUTHERAN HEALTH AND HUMAN CARE	49,640	46,965	19,536			\$0.00
CONNER-WILLIAMS NURSING HOME	18,250	14,724	9,284			\$0.00
COUNTRYSIDE CONVAL HOME LTD PARTNERSHIP	17,520	16,522	8,535			\$0.00
CRANBERRY PLACE	54,750	51,314	28,072			\$0.00
CRESTVIEW CENTER	65,700	61,859	39,026			\$0.00
CROSS KEYS VILLAGE-BRETHREN HM COMM, THE	98,550	95,304	46,113			\$0.00
DEER MEADOWS RETIREMENT COMMUNITY	75,190	71,390	43,864			\$0.00
DOCK TERRACE	26,280	25,175	9,815			\$0.00
DONAHOE MANOR	26,280	23,664	13,642			\$0.00
DR ARTHUR CLIFTON MCKINLEY HEALTH CENTER	32,850	31,195	16,743			\$0.00
DRESHER HILL HEALTH AND REHAB CENTER	43,070	40,360	30,780			\$0.00
DUBOIS NURSING HOME	51,100	49,582	31,651			\$0.00

3/28/2011

Chapter 1187.111 Disproportionate Share Payments for full year cost reports ending June 30, 2010 . Acceptance letters mailed as of March 28, 2011

ELDERCREST NURSING CENTER 17,520 16,103 9,553 \$6 ELK HAVEN NURSING HOME 43,800 42,269 25,579 \$6 ELKINS CREST HEALTH AND REHAB CENTER 54,750 51,716 35,078 \$6 ELLEN MEMORIAL HEALTH CARE CENTER 52,195 38,541 25,498 \$6 ELM TERRACE GARDENS 26,280 25,796 9,258 \$6 FAIR WINDS MANOR 24,090 22,569 14,879 \$6 FAIRWOUNT HOMES 43,800 39,450 12,977 \$6 FAIRVIEW CARE CENTER OF BETHLEHEM PIKE 64,432 60,036 46,207 \$6 FAIRVIEW CARE CENTER OF PAPERMILL ROAD 47,085 44,746 34,286 \$6 FELLOWSHIP MANOR 44,165 42,256 16,846 \$6 FOX SUBACUTE AT MECHANICSBURG 8,030 6,441 3,945 \$6 FRIENDLY NURSING HOME - PITMAN 17,520 13,434 9,767 \$6 FULTON COUNTY MEDICAL CENTER LTCU 24,455 23,796 18,007 \$6	\$0.00 \$0.00
Name Days Days MA Days of Care Group Per Diem Total Paym EDGEHILL NURSING AND REHAB CENTER 21,900 21,058 15,792 \$6 ELDERCREST NURSING CENTER 17,520 16,103 9,553 \$6 ELK HAVEN NURSING HOME 43,800 42,269 25,579 \$6 ELKINS CREST HEALTH AND REHAB CENTER 54,750 51,716 35,078 \$6 ELKIN MEMORIAL HEALTH CARE CENTER 52,195 38,541 25,498 \$6 ELM TERRACE GARDENS 26,280 25,796 9,258 \$6 FAIR WINDS MANOR 24,090 22,569 14,879 \$6 FAIRVIEW CARE CENTER OF BETHLEHEM PIKE 64,432 60,036 46,207 \$6 FAIRVIEW CARE CENTER OF PAPERMILL ROAD 47,085 44,746 34,286 \$6 FELLOWSHIP MANOR 44,165 42,256 16,846 \$6 FOX SUBACUTE AT MECHANICSBURG 8,030 6,441 3,945 \$6 FRIENDLY NURSING HOME - PITMAN 17,520 13,434 9,767	\$0.00 \$0.00
EDGEHILL NURSING AND REHAB CENTER 21,900 21,058 15,792 \$6 ELDERCREST NURSING CENTER 17,520 16,103 9,553 \$6 ELK HAVEN NURSING HOME 43,800 42,269 25,579 \$6 ELKINS CREST HEALTH AND REHAB CENTER 54,750 51,716 35,078 \$6 ELLEN MEMORIAL HEALTH CARE CENTER 52,195 38,541 25,498 \$6 ELM TERRACE GARDENS 26,280 25,796 9,258 \$6 FAIR WINDS MANOR 24,090 22,569 14,879 \$6 FAIRVIEW CARE CENTER OF BETHLEHEM PIKE 64,432 60,036 46,207 \$6 FAIRVIEW CARE CENTER OF PAPERMILL ROAD 47,085 44,746 34,286 \$6 FELLOWSHIP MANOR 44,165 42,256 16,846 \$6 FOX SUBACUTE AT MECHANICSBURG 8,030 6,441 3,945 \$6 FRIENDLY NURSING HOME - PITMAN 17,520 13,434 9,767 \$6 FULTON COUNTY MEDICAL CENTER LTCU 24,455 23,796 18,007 \$6 <th>\$0.00 \$0.00</th>	\$0.00 \$0.00
ELK HAVEN NURSING HOME 43,800 42,269 25,579 \$6 ELKINS CREST HEALTH AND REHAB CENTER 54,750 51,716 35,078 \$6 ELLEN MEMORIAL HEALTH CARE CENTER 52,195 38,541 25,498 \$6 ELM TERRACE GARDENS 26,280 25,796 9,258 \$6 FAIR WINDS MANOR 24,090 22,569 14,879 \$6 FAIRWOUNT HOMES 43,800 39,450 12,977 \$6 FAIRVIEW CARE CENTER OF BETHLEHEM PIKE 64,432 60,036 46,207 \$6 FAIRVIEW CARE CENTER OF PAPERMILL ROAD 47,085 44,746 34,286 \$6 FELLOWSHIP MANOR 44,165 42,256 16,846 \$6 FOX SUBACUTE AT MECHANICSBURG 8,030 6,441 3,945 \$6 FRIENDLY NURSING HOME - PITMAN 17,520 13,434 9,767 \$6 FULTON COUNTY MEDICAL CENTER LTCU 24,455 23,796 18,007 \$6	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
ELKINS CREST HEALTH AND REHAB CENTER 54,750 51,716 35,078 \$6 ELLEN MEMORIAL HEALTH CARE CENTER 52,195 38,541 25,498 \$6 ELM TERRACE GARDENS 26,280 25,796 9,258 \$6 FAIR WINDS MANOR 24,090 22,569 14,879 \$6 FAIRMOUNT HOMES 43,800 39,450 12,977 \$6 FAIRVIEW CARE CENTER OF BETHLEHEM PIKE 64,432 60,036 46,207 \$6 FAIRVIEW CARE CENTER OF PAPERMILL ROAD 47,085 44,746 34,286 \$6 FELLOWSHIP MANOR 44,165 42,256 16,846 \$6 FOX SUBACUTE AT MECHANICSBURG 8,030 6,441 3,945 \$6 FRIENDLY NURSING HOME - PITMAN 17,520 13,434 9,767 \$6 FULTON COUNTY MEDICAL CENTER LTCU 24,455 23,796 18,007 \$6	\$0.00 \$0.00
ELLEN MEMORIAL HEALTH CARE CENTER 52,195 38,541 25,498 \$6 ELM TERRACE GARDENS 26,280 25,796 9,258 \$6 FAIR WINDS MANOR 24,090 22,569 14,879 \$6 FAIRMOUNT HOMES 43,800 39,450 12,977 \$6 FAIRVIEW CARE CENTER OF BETHLEHEM PIKE 64,432 60,036 46,207 \$6 FAIRVIEW CARE CENTER OF PAPERMILL ROAD 47,085 44,746 34,286 \$6 FELLOWSHIP MANOR 44,165 42,256 16,846 \$6 FOX SUBACUTE AT MECHANICSBURG 8,030 6,441 3,945 \$6 FRIENDLY NURSING HOME - PITMAN 17,520 13,434 9,767 \$6 FULTON COUNTY MEDICAL CENTER LTCU 24,455 23,796 18,007 \$6	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
ELM TERRACE GARDENS 26,280 25,796 9,258 \$6 FAIR WINDS MANOR 24,090 22,569 14,879 \$6 FAIRMOUNT HOMES 43,800 39,450 12,977 \$6 FAIRVIEW CARE CENTER OF BETHLEHEM PIKE 64,432 60,036 46,207 \$6 FAIRVIEW CARE CENTER OF PAPERMILL ROAD 47,085 44,746 34,286 \$6 FELLOWSHIP MANOR 44,165 42,256 16,846 \$6 FOX SUBACUTE AT MECHANICSBURG 8,030 6,441 3,945 \$6 FRIENDLY NURSING HOME - PITMAN 17,520 13,434 9,767 \$6 FULTON COUNTY MEDICAL CENTER LTCU 24,455 23,796 18,007 \$6	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$5.64 \$0.00 \$0.00 \$0.00
FAIR WINDS MANOR 24,090 22,569 14,879 \$6 FAIRMOUNT HOMES 43,800 39,450 12,977 \$6 FAIRVIEW CARE CENTER OF BETHLEHEM PIKE 64,432 60,036 46,207 \$6 FAIRVIEW CARE CENTER OF PAPERMILL ROAD 47,085 44,746 34,286 \$6 FELLOWSHIP MANOR 44,165 42,256 16,846 \$6 FOX SUBACUTE AT MECHANICSBURG 8,030 6,441 3,945 \$6 FRIENDLY NURSING HOME - PITMAN 17,520 13,434 9,767 \$6 FULTON COUNTY MEDICAL CENTER LTCU 24,455 23,796 18,007 \$6	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$5.64 \$0.00 \$0.00 \$0.00
FAIR WINDS MANOR 24,090 22,569 14,879 \$6 FAIRMOUNT HOMES 43,800 39,450 12,977 \$6 FAIRVIEW CARE CENTER OF BETHLEHEM PIKE 64,432 60,036 46,207 \$6 FAIRVIEW CARE CENTER OF PAPERMILL ROAD 47,085 44,746 34,286 \$6 FELLOWSHIP MANOR 44,165 42,256 16,846 \$6 FOX SUBACUTE AT MECHANICSBURG 8,030 6,441 3,945 \$6 FRIENDLY NURSING HOME - PITMAN 17,520 13,434 9,767 \$6 FULTON COUNTY MEDICAL CENTER LTCU 24,455 23,796 18,007 \$6	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$5.64 \$0.00 \$0.00 \$0.00
FAIRMOUNT HOMES 43,800 39,450 12,977 \$6 FAIRVIEW CARE CENTER OF BETHLEHEM PIKE 64,432 60,036 46,207 \$0 FAIRVIEW CARE CENTER OF PAPERMILL ROAD 47,085 44,746 34,286 \$0 FELLOWSHIP MANOR 44,165 42,256 16,846 \$0 FOX SUBACUTE AT MECHANICSBURG 8,030 6,441 3,945 \$0 FRIENDLY NURSING HOME - PITMAN 17,520 13,434 9,767 \$0 FULTON COUNTY MEDICAL CENTER LTCU 24,455 23,796 18,007 \$0	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$5.64 \$0.00 \$0.00 \$0.00
FAIRVIEW CARE CENTER OF BETHLEHEM PIKE 64,432 60,036 46,207 \$(FAIRVIEW CARE CENTER OF PAPERMILL ROAD 47,085 44,746 34,286 \$(FELLOWSHIP MANOR 44,165 42,256 16,846 \$(FOX SUBACUTE AT MECHANICSBURG 8,030 6,441 3,945 \$(FRIENDLY NURSING HOME - PITMAN 17,520 13,434 9,767 \$(FULTON COUNTY MEDICAL CENTER LTCU 24,455 23,796 18,007 \$(\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$5.64 \$0.00 \$0.00 \$0.00
FAIRVIEW CARE CENTER OF PAPERMILL ROAD 47,085 44,746 34,286 \$(FELLOWSHIP MANOR 44,165 42,256 16,846 \$(FOX SUBACUTE AT MECHANICSBURG 8,030 6,441 3,945 \$(FRIENDLY NURSING HOME - PITMAN 17,520 13,434 9,767 \$(FULTON COUNTY MEDICAL CENTER LTCU 24,455 23,796 18,007 \$(\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 85.64 \$0.00 \$0.00 \$0.00
FOX SUBACUTE AT MECHANICSBURG 8,030 6,441 3,945 \$0 FRIENDLY NURSING HOME - PITMAN 17,520 13,434 9,767 \$0 FULTON COUNTY MEDICAL CENTER LTCU 24,455 23,796 18,007 \$0	\$0.00 \$0.00 \$0.00 \$0.00 85.64 \$0.00 \$0.00
FOX SUBACUTE AT MECHANICSBURG 8,030 6,441 3,945 \$0 FRIENDLY NURSING HOME - PITMAN 17,520 13,434 9,767 \$0 FULTON COUNTY MEDICAL CENTER LTCU 24,455 23,796 18,007 \$0	\$0.00 \$0.00 \$0.00 \$0.00 85.64 \$0.00 \$0.00
FRIENDLY NURSING HOME - PITMAN 17,520 13,434 9,767 \$0 FULTON COUNTY MEDICAL CENTER LTCU 24,455 23,796 18,007 \$0	\$0.00 \$0.00 85.64 \$0.00 \$0.00 \$0.00
	\$0.00 85.64 \$0.00 \$0.00 \$0.00
	\$0.00 85.64 \$0.00 \$0.00 \$0.00
GARDEN SPRING CENTER 63,145 58,529 41,772 \$(\$5.64 \$0.00 \$0.00 \$0.00
GERMANTOWN HOME 65,700 63,212 55,907 B \$2.52 \$140,885	\$0.00 \$0.00 \$0.00
	\$0.00 \$0.00
	\$0.00
	44.56
GOOD SHEPHERD HOME RAKER CENTER 36,135 35,488 34,098 A \$3.72 \$126,844	
GOOD SHEPHERD HOME-BETHLEHEM 21,900 21,489 20,710 A \$3.72 \$77,04	41.20
	\$0.00
	\$0.00
GREENLEAF NURSING HOME AND CONVAL CENTER 47,450 46,281 40,368 C \$1.51 \$60,955	55.68
	\$0.00
GUY AND MARY FELT MANOR, INC 14,600 13,792 8,912 \$	\$0.00
	\$0.00
	\$0.00
HAMPTON HOUSE 37,960 34,712 24,790 \$	\$0.00
HARSTON HALL 43,800 40,807 32,158 \$	\$0.00
HAVENCREST NURSING CENTER 17,520 16,423 5,798 \$	\$0.00
HEARTLAND HEALTH CARE CENTER(PITTSBURGH) 81,760 65,675 57,009 \$(\$0.00
HERITAGE HOUSE 18,250 17,788 10,565 \$(\$0.00
HIGHLAND CENTER, GENESIS ELDERCARE NTWRK 35,405 31,537 20,245 \$(\$0.00
HIGHLAND MANOR NURSING AND CONVAL CENTER 43,800 38,817 28,748 \$(\$0.00
HILLCREST CENTER 65,700 61,641 45,624 \$	\$0.00
HOMELAND CENTER 33,580 33,060 15,166 \$	\$0.00
HOMESTEAD VILLAGE, INC 21,900 18,497 6,785 \$(\$0.00
	\$0.00
HUNTINGDON NURSING AND REHAB CENTER 33,945 28,169 21,515 \$(\$0.00
	\$0.00
INGLIS HOUSE 108,405 105,514 99,611 A \$3.72 \$370,552	52.92
IVY HILL REHABILITATION AND NURSING CTR 55,115 48,427 39,158 \$(\$0.00
JEFFERSON MANOR HEALTH CENTER 58,400 51,818 36,861 \$(\$0.00
JEWISH HOME OF GREATER HARRISBURG 50,370 47,398 23,786 \$	\$0.00
KEARSLEY LONG TERM CARE CENTER II 30,660 29,283 25,264 C \$1.51 \$38,148	48.64
	\$0.00
KRAMM HEALTHCARE CENTER, INC 50,370 46,604 32,311 \$(\$0.00
	\$0.00
	\$0.00
	\$0.00
· · · · · · · · · · · · · · · · · · ·	\$0.00
	\$0.00
LAUREL RIDGE CENTER 22,265 19,076 11,235 \$(\$0.00
LAUREL VIEW VILLAGE 21,900 20,802 8,669 \$(\$0.00

3/28/2011

Chapter 1187.111 Disproportionate Share Payments for full year cost reports ending June 30, 2010 . Acceptance letters mailed as of March 28, 2011

	Reported	Reported				
	Available	Actual	6/30/2010			
Name	Days	Days	MA Days of Care	Group	Per Diem	Total Payment
LEHIGH CENTER	46,720	44,588	18,122			\$0.00
LIBERTY COURT, GENESIS ELDERCARE NETWORK	54,750	50,772	28,992			\$0.00
LIBERTY NURSING AND REHAB CENTER	53,290	47,874	33,826			\$0.00
LIFEQUEST NURSING CENTER	51,100	45,436	30,190			\$0.00
LINWOOD NURSING AND REHABILITATION CTR	37,230	26,200	22,365			\$0.00
LITTLE FLOWER MANOR	46,355	41,504	23,136			\$0.00
LOCK HAVEN HOSPITAL E.C.U.	32,850	26,129	18,692			\$0.00
LUTHERAN COMMUNITY AT TELFORD	27,375	25,724	9,768			\$0.00
MADLYN AND LEONARD ABRAMSON CENTER	118,260	115,123	80,012	_	00.47	\$0.00
MANORCA DE LIFALTILIOVOS KINCOTONICOURT	65,700	63,339	52,042	E	\$0.47	\$24,459.74
MANORCARE HEALTH SVCS-KINGSTON COURT MANORCARE HEALTH SVCS-MERCY FITZGERALD	55,115	51,770 40,490	29,838			\$0.00 \$0.00
MANORCARE HEALTH SVCS-WERCT FITZGERALD MANORCARE HEALTH SVCS-YORK NORTH	43,800 58,765	55,817	20,480 35,238			\$0.00
MANORCARE HEALTH SVCS-YORK NORTH MANORCARE HEALTH SVCS-YORK SOUTH	55,115	51,976	33,046			\$0.00
MAPLEWOOD MANOR CENTER	65,700	63,170	58,386	Α	\$3.72	\$217,195.92
MARGARET E. MOUL HOME	29,930	29,635	29,556	A	\$3.72	\$109,948.32
MARIAN MANOR CORPORATION	56,210	54,192	31,027	/ \	ψ0.72	\$0.00
MARWOOD REST HOME, INC	31,755	30,894	27,208	В	\$2.52	\$68,564.16
MARY ELLEN CONVALESCENT HOME, INC	17,934	15,284	10,011	_	Ψ2.02	\$0.00
MCMURRAY HILLS MANOR	41,975	36,588	28,211			\$0.00
MEADOW VIEW NURSING CENTER	54,750	49,004	34,560			\$0.00
MEADOWCREST NURSING CENTER	18,250	16,116	7,233			\$0.00
MEADOWS NURSING CENTER	47,450	41,948	26,521			\$0.00
MEMORIAL HOSPITAL INC SNU	24,820	22,106	15,830			\$0.00
MENNONITE HOME, THE	70,754	60,541	31,216			\$0.00
MESSIAH VILLAGE	67,160	64,348	16,863			\$0.00
MILLCREEK MANOR	18,250	17,472	12,298			\$0.00
MORAVIAN SPRINGS HEALTH CENTER	22,265	21,632	2,685			\$0.00
MOSES TAYLOR HOSPITAL S.N.F.	11,315	9,397	4,806			\$0.00
MOSSER NURSING HOME	21,900	19,908	12,257			\$0.00
MOUNT HOPE NAZARENE RETIREMENT COMMUNITY	18,250	18,164	15,383	D	\$0.91	\$13,998.53
MOUNT MACRINA MANOR NURSING HOME	50,735	47,431	33,099			\$0.00
MOUNTAIN LAUREL NRC	87,600	78,873	52,003			\$0.00
MOUNTAIN VIEW CARE CENTER	65,700	63,882	41,288			\$0.00
MUNCY VALLEY HOSPITAL SNU	50,370	47,544	33,360			\$0.00
NAAMANS CREEK COUNTRY MANOR	32,850	30,864	16,921			\$0.00
NORTH HILLS HEALTH AND REHAB CENTER OAK HILL NURSING AND REHAB CENTER	20,075 17,520	17,784 16,062	9,452 6,738			\$0.00 \$0.00
OAKWOOD HEALTHCARE & REHABILITATION CTR	54,020	47,707	36,564			\$0.00
ORCHARD MANOR, INC	44,165	41,926	27,913			\$0.00
ORWIGSBURG CENTER	47,450	42,950	28,040			\$0.00
OSPREY RIDGE HEALTHCARE AND REHAB CENTER	29,565	26,051	19,640			\$0.00
PARK PLEASANT HEALTH CARE FACILITY	44,895	42,590	32,556			\$0.00
PASSAVANT RETIREMENT AND HEALTH CENTER	57,670	54,267	29,143			\$0.00
PAVILION AT BRMC	34,675	30,652	21,332			\$0.00
PEMBROOKE HEALTH AND REHAB RESIDENCE	65,700	60,382	49,143	F	\$0.33	\$16,217.19
PENN CENTER FOR REHABILITATION AND CARE	45,260	42,631	36,914	С	\$1.51	\$55,740.14
PENNSBURG MANOR	43,800	41,434	27,775			\$0.00
PETER BECKER COMMUNITY	26,280	24,491	8,151			\$0.00
PHOEBE BERKS HEALTH CARE CENTER, INC	43,800	29,239	9,144			\$0.00
PHOEBE HOME, INC	144,175	138,655	81,325			\$0.00
PHOEBE RICHLAND HCC	52,195	42,267	22,098			\$0.00
PICKERING MANOR HOME	17,155	16,602	9,883			\$0.00
PINE RUN HEALTH CENTER	46,355	21,355	2,553			\$0.00
PINECREST MANOR	50,370	46,092	28,461			\$0.00

3/28/2011

Chapter 1187.111 Disproportionate Share Payments for full year cost reports ending June 30, 2010 . Acceptance letters mailed as of March 28, 2011

	Reported	Reported				
	Available	Actual	6/30/2010			
Name	Days	Days	MA Days of Care	Group	Per Diem	Total Payment
PROSPECT PARK HEALTH AND REHAB RESIDENCE	65,700	57,067	44,630	Отоир	T CI DICIII	\$0.00
QUARRYVILLE PRESBYTERIAN RETIRMENT COMM	47,450	37,285	13,131			\$0.00
REDSTONE HIGHLANDS HEALTH CARE CENTER	28,105	27,289	15,029			\$0.00
REGINA COMMUNITY NURSING CENTER	44,165	40,991	31,209			\$0.00
REST HAVEN-YORK	58,035	47,579	26,948			\$0.00
RICHBORO REHAB AND NURSING CENTER	29,930	27,732	19,785			\$0.00
RITTENHOUSE PINE CENTER	43,800	40,212	23,325			\$0.00
ROCKHILL MENNONITE COMMUNITY	32,850	30,776	10,262			\$0.00
ROLLING MEADOWS	44,165	42,251	28,088			\$0.00
ROSE VIEW CENTER	44,895	42,029	29,031			\$0.00
SAINT ANNE HOME	45,625	43,100	24,234			\$0.00
SAINT ANNE'S RETIREMENT COMMUNITY	44,165	39,919	13,079			\$0.00
SAINT CATHERINE HEALTHCARE CENTER	14,600	12,833	8,609			\$0.00
SAINT FRANCIS COUNTRY HOUSE	99,645	96,094	72,418			\$0.00
SAINT IGNATIUS NURSING HOME	64,416	60,013	55,860	Α	\$3.72	\$207,799.20
SAINT JOHN NEUMANN NURSING HOME	82,490	80,242	53,258			\$0.00
SAINT JOSEPH VILLA	39,118	35,855	21,509			\$0.00
SAINT MARTHA MANOR	43,800	42,527	20,918			\$0.00
SAINT MARY'S MANOR	43,800	42,008	22,947			\$0.00
SANATOGA CENTER	47,450	44,866	22,178			\$0.00
SARAH A REED RETIREMENT CENTER, THE	38,690	36,460	21,222			\$0.00
SAUNDERS HOUSE	65,700	60,465	24,276			\$0.00
SAYRE HOUSE, INC	18,250	16,911	8,589			\$0.00
SCHUYLKILL CENTER	69,350	65,372	46,680			\$0.00
SENECA PLACE	64,970	61,250	41,058			\$0.00
SETON MANOR INC	43,800	42,074	28,974			\$0.00
SHADYSIDE NURSING AND REHAB CENTER	54,750	47,513	34,757			\$0.00
SHERWOOD OAKS	21,900	16,645	365			\$0.00
SIEMONS' LAKEVIEW MANOR ESTATE	43,800	37,977	22,157			\$0.00
SILVER LAKE CENTER	63,510	59,767	46,180			\$0.00
SILVER STREAM CENTER	43,800	40,512	31,810			\$0.00
SKY VUE TERRACE	36,500	28,783	26,238			\$0.00
SLATE BELT NURSING AND REHAB CENTER	45,990	43,600	23,946			\$0.00
SMITH HEALTH CARE, LTD	13,505	12,332	6,561			\$0.00
SOMERTON CENTER	87,965	78,116	64,937			\$0.00
SOUDERTON MENNONITE HOMES	22,265	21,912	11,832			\$0.00
SOUTH FAYETTE NURSING CENTER	21,900	20,207	18,407	Α	\$3.72	\$68,474.04
SOUTHWESTERN NURSING CENTER	43,070	37,139	21,909			\$0.00
SPRUCE MANOR NURSING AND REHAB CENTER	73,000	70,167	55,318			\$0.00
ST JOHN SPECIALTY CARE CENTER	109,500	84,437	61,813			\$0.00
ST JOSEPH'S MANOR (DBA ENTITY OF HRHS)	108,040	105,523	63,052			\$0.00
ST LUKE'S MINERS MEMORIAL GERIATRIC CTR	17,520	16,717	11,745			\$0.00
ST. MONICA MANOR	65,700	62,977	50,762	F	\$0.33	\$16,751.46
STATESMAN HEALTH AND REHAB CENTER	36,865	34,855	22,138			\$0.00
STERLING HEALTH CARE AND REHAB CENTER	59,860	56,805	45,845	F	\$0.33	\$15,128.85
SUGAR CREEK REST	41,610	33,569	22,297			\$0.00
SUMMIT AT BLUE MOUNTAIN NURSING & REHAB	33,215	31,276	22,085			\$0.00
SUNBURY COMMUNITY HOSPITAL SNF	10,614	8,006	4,968			\$0.00
TEL HAI RETIREMENT COMMUNITY	50,735	49,041	18,377			\$0.00
THE BELVEDERE CENTER, GENESIS HEALTHCARE	54,750	51,610	38,510			\$0.00
TOWNVIEW HEALTH AND REHAB CENTER	43,070	29,647	22,073			\$0.00
TREMONT HEALTH AND REHABILITATION CENTER	65,700	60,841	41,521			\$0.00
TRINITY LIVING CENTER	39,785	32,723	25,198			\$0.00
TUCKER HOUSE	65,700	62,243	56,583	Α	\$3.72	\$210,488.76
TWINBROOK MEDICAL CENTER	45,260	33,813	23,050			\$0.00

3/28/2011

Chapter 1187.111 Disproportionate Share Payments for full year cost reports ending June 30, 2010 . Acceptance letters mailed as of March 28, 2011

	Reported	Reported				_
	Available	Actual	6/30/2010			
Name	Days	Days	MA Days of Care	Group	Per Diem	Total Payment
UPMC HERITAGE PLACE	52,925	51,049	32,082			\$0.00
VALLEY MANOR NURSING AND REHAB CENTER	65,700	63,359	47,842			\$0.00
VILLA SAINT JOSEPH OF BADEN INC.	43,800	42,641	26,467			\$0.00
VINCENTIAN DE MARILLAC	18,250	16,665	10,278			\$0.00
VINCENTIAN HOME	65,700	58,424	36,951			\$0.00
VINCENTIAN REGENCY	52,195	50,162	29,314			\$0.00
WALLINGFORD NURSING AND REHAB CENTER	75,555	65,533	42,747			\$0.00
WAYNE CENTER	40,880	36,951	21,611			\$0.00
WAYNE WOODLANDS MANOR	44,165	38,451	25,588			\$0.00
WESLEY ENHANCED LIVING AT STAPELY	43,800	40,464	27,378			\$0.00
WEST HAVEN NURSING HOME	64,605	45,545	28,914			\$0.00
WEST HILLS HEALTH AND REHAB CENTER	54,750	51,722	28,032			\$0.00
WEXFORD HOUSE NURSING CENTER	66,430	62,933	36,437			\$0.00
WILLOW TERRACE	65,700	60,989	53,520	В	\$2.52	\$134,870.40
WILLOWCREST	50,370	32,125	12,318			\$0.00
WYNCOTE CHURCH HOME	21,170	16,328	11,177			\$0.00
ZERBE SISTERS NURSING CENTER, INC.	31,755	30,746	20,891			\$0.00